[ Efficiency vs vertpos |

= 0.0% - -

8).009F - fr-eeiefoemeeeens R (N

g E : :

20.008fF - {weie oo N B

(8] - . : ]

@007+ Feeriefree e b

O F :“ .

D.006F - 1eeei oo e I O N
F : w

0.005F- -4+ -+ {1 N Hloeeenn.

0.004F -t AL

0.003F -+f-{:++++- BRI/ S

0.002F -+ e Al gl

0.001§—+* ---------------- P Y | PPN AL | O

Y SRS pore B PR 4 VY

5 :

[0 5 ) RS B RO 1 A 1 A A
ol SR U 5 8 U 5 0

1

[EnN
2
N
=
o
iR

10 0?
TP vertr (cr%)

DOM
——— . DOM_mKFitREFit-test_1000evt
Efficiend " poMNANTEST 10008vt

~ 0.05
9.045
2]
20.04
>
(@)
0035
£0.03
(]
0.025
0.02)
0.015
0.01
0.005]
0

............................................

............................................

............................................

-
1
I
.II..

0.9F---

Ratio
|||||||||'T|I|III

%920 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

>
20.009
5.008
$.007
>
_a_‘:j).oos
9.005
[J]
0.004
0.003
0.002
0.001
0

..................................................

....................................................

AAANNNANNNRENEN AN NN RN REN LRRR

2
%

Ratio
|||||||'T|I TTT1
i
T

0.0k -- b Jab ]

%08 6 4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


